Addition/Subtraction within 100/-100

Name: Score:

Solve the integer addition and subtraction problems

-50 - (-22) = 43 - (-19) = -66 - (-22) =
68 - (-19) = 25+75= 79 + (-15) =
S0+ 15= 35-(-24)= 18+ (-57) =
-19 - (-60) = -44 - 8 = -6 - (-70) =
28 + (-47) = -27 - (-30) = -18 - 50 =
-72-12 = 230 + (-40) = 4 - (-80) =
-84 + 64 = 92 -5= 31+ 10=
40 - (-42) = -12 - (-90) = -60 + (-9) =
-36-55 = 67 + (-4) = 43 -10=
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Answers

Solve the integer addition and subtraction problems

250 - (-22) =

68 - (-19) =

50+ 15=

-19 - (-60) =

28 +(-47) =

-72 - 12 =

-84+ 64 =

40 - (-42) =

-36-55=

-28

87

-35

41

=75
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-20

82

91

43-(-19)= 62
25+75= 50
35-(-24)= 59
44 -8 = -52
27-(-30)= 3

-30 + (-40)= -70

-92-5= -97

12-(-90)= 78

67+(-4)= 63

-66 - (-22) = -44
79+ (-15)= 64
-18+(-57)=-75
-6-(-70)= 64
-18-50=-68
4-(-80)= 76
31+10= -21
60+ (-9)= -69
43-10= -53



